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= ADR(B);
=[] A4N_EtherCAT (A4 EtherCAT v2.00 s|© Axis[2][T#E4AADCTE] := ADR(X):
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Axis:= hxis[i[& -,
Enable[ 777 |:= 1,
bRegulatorOn] 777 |:= 1,
bDriveStart] 77 |:=
Status=> ,
bRegqulatorRealState=> ,
bDriveStartRealState=> ,
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= Error=> ,
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VAR
Axis: ARRAY[0..5] OF POINTER TO AXIS_REF_SM3;//4i g%t
i: INT;
j: INT;

iAxisCommErr: ARRAY[O0..5] OF INT;//Hiimitliztric
MC_Power: ARRAY[0..5] OF MC_Power;
END_VAR
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Axis[0] := ADR(A);
Axis[1l] := ADR(B);
Axis[2] := ADR(X);
Axis[3] := ADR(Y);
Axis[4] := ADR(Z1);

Axis[5] := ADR(Z2);
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IF 100<Axis[i]A.wCommunicationState THEN
jAXisCommErr[i]:=1;
END_IF
END_FOR
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FOR j:=0 TO 5 BY 1 DO
MC_Power[j](
Axis:= Axis[j]A,
Enable:= 1,
brRegulatoron:= 1,
bDrivesStart:= 1,
Status=> ,
bRegulatorRealState=> ,
bDriveStartRealState=> ,
Busy=> ,
Error=>
ErroriD=> );

END_FOR
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